11

* LR SEBEDHATICAYFHITTEEY,

* Adhesive rubber feet in cluded.

13

¥ERLINZ / Components

No. & ¥ / Part name #= / Pcs #ME / Material & - RE LI / Color-Finish
1 A= b2 AT 9 1 7 JLEHR A1100P YN =FWRAL, 753997 b Ab
Front panel Aluminium A1100P Silver anodized , Black anodized
2 YT 3% 1 T ILEAR A1100P YMN=TFNIAL, 77997 WRAb
Rear panel Aluminium A1100P Silver anodized , Black anodized
3 YARTL—L 2 TILEHHH A6063S-T5 Y-8 THBE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JavkIb—L 2 7 ILSHEH A6063S-T5 TU-EE TIVIER
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 )7IL—L 2 TILERH# A6063S-T5 YWN=T LA+
Rear frame Extruded aluminium A6063S-T5 Silver anodized
EH/8—/ Top cover 1 7 ILZHR A1100P / Aluminium AT100P |54 L—33E | 7599383 / Light gray painted , Black painted
F#/3\— / Bottom cover 1 7 ILZ#R A1100P / Aluminium AT100P |54 L—33E | 759933 / Light gray painted , Black painted
8 a——Javy 2 TIVEH 4F v AR ADC12 YL-BE | THBE
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 D7 74—hk 2 RMEABSHIRE (UL94V-0 EMS)  [JL—. 7599
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3L 2 / Rubber feet RYrHL A / Polyurethane 7799 / Black
11 H{TE R (M4 x 6 ¥3) % =ffiyni-+
Screw (M4 — 6 Countersunk) Steel Trivalent chromate
12 H{TE R (M4 x 8 FX) 8 % ={fiyni—t
Screw (M4 — 8 Pan head) Steel Trivalent chromate
13 HATE Z (M4 x 10 /A R) 4 % =R R -+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

4 /Title
BRIHIDTFERIR A—ILTLIVRT LT —2 O[]
Bk (BFEFRED) / Color type (End of product number]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
208 / Code N )L / Panel L+THsN— / Top - Bottom cover | HAKT7L—.L / Side frame 758/ Approved #%[X/Checked [/ Created F4Z& /Product number RIE/Scale
GS < )LsN— / Silver 5S4k L— / Light gray J'L— / Gray MO99-16-16 |:|
B 7599 / Black 75v% / Black 7397 / Black iR X 541 1/ 8
BS L JLsN— / Silver 75v9% / Black 75v% / Black {ER B /Date 2023/08/04




12.5

I201

20 10

B-B(1:25)

130

160

HAK2JL—.L1 / Side framel

T1 [T
C C
202 k2L —.A1 / Front framel
160
& 71 ) L
S 3
— N 1/
© \__/
< A
133

1)J72L—.As1 / Rear framel

A-A(1:25)

Bxh~TiE / Max dim. 135

282270 —.L2 / Front frame2

~

N

20.6

| -

HAKIL—L2 / Side frame2

$~3% / Max dim. 94

%

Gl

C-C(1:25)

Bxh~ti% / Max dim. 139

)7L —.,.2 / Rear frame2

82.5
® [1 ®

®

@ [

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
F—IWTFIEVRATLT—R

DESKTOP ENCLOSURE

S
QL

& &8/ Approved

iR

#&[X/Checked

£

#[X/Created

52

& /Product number

MO99-16-160L1

RE/Scale
1:2.5

1ERk B /Date

2020/03/04




02 k/\ARJL / Front panel

Bh~ti% / Max dim. 130

Bxh~Ti% / Max dim. 83

M / Front side

1J7 /752 JL / Rear panel

BHxh~Ti% / Max dim. 82.5

Bh~ti% / Max dim. 130

M / Front side

RE—MA

Surface protective film side

REES—H A

Surface protective film side

2 133
D
[e0]
ZZ M / Back side
2 138.5
o
[ee)
[e0]
1 / Back side
4 /Title
TAKACHI| #X|HINFEMT % JOVRFRIL, YT IR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Front pane| , Rear pane|
& &8/ Approved & /Checked #1[X]/Created #IF /Product number RI&/Scale
H99 - W160 11
iR o Bt 3 8
YERL B /Date 2020/03/04




0> KAl / Front side

70> Ml / Front side

127.5

4-24.5

2-24.2

94
77

86.5

475

2-M4

69

10

R B /Date 2020/03/04

0
O O )
éj ——
5 _
— U]
o
—
- Q Q Q
J
2 5 ~ .
i H AL —L1 / Side framel
)
VJ]] ] O O
b=
S ——
-'_|;|‘
ﬁ
S ——
S
QO O Q
'\_I] \J
HAKTL—.L2 / Side frame?2
4 /Title f\ |/|
TAKACHI] #a#tahFEHITE YARTL—L O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
& &8/ Approved & /Checked #1[X]/Created B F /Product number RI&/Scale
H99 - D160 12
iR T ES 2o 48




133

30

123

2-M4AAHS 9%

2-M4 Countersunk

M\ M\
\\/ \\/
JO k2L —L1 / Front framel
M\ M\
\\/ \\/

28 k270 —.,2 / Front frame2

BREUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

& &8/ Approved

iR

#&[X/Checked

£

#[X/Created

52

4/ Title
JOVrIL—L4 @} :II
Front frame _

#IF /Product number RE/Scale
W160 1:15

fER B /Date 2020/03/04 5/ 8




141

20

M4

N

)7L —.L1 / Rear framel

1)J72L—.,.2 / Rear frame2

fEFEE/Date  2020/03/04

mf/Title
TAKACHI| #RRHIhFERITE JFIL—Ls (} :II
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
758/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
iR X A 6 8




6.75

F=

129.5

156.5

1.5

129.5

R4.5

<ti% / Max dim. 97.5

2

=l

12

Bxh~TiE / Max dim. 139

15.5

6.5

4 /Title
TAKACHI] #X&#NTFERTE EHi— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 R/ Approved & /Checked #1[X]/Created FIZFE /Product number RE/Scale
W160 - D160 115
iR x Bt 7 /8
YERL B /Date 2020/03/04




6.75

F=

129.5

156.5

1.5

129.5

R4.5

<ti% / Max dim. 97.5

2

=l

12

Bxh~TiE / Max dim. 139

15.5

6.5

KRR INFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

& &8/ Approved

iR

#&[X/Checked

£

#[¥]/Created

A

4/ Title
— S
TAhHN O[]
Bottom cover _
#IF /Product number RE/Scale
W160 - D160 1:15
fERB/Date  2020/03/04 8 /8




	シートとビュー
	MO99-16-16-モデル
	2
	3
	4
	5
	6
	7
	8


